Tabela de Relacoes Trigonométricas

2

01) sen?x + cos2x = 1

2

02) 1 + tgzx = secX

2

03) 1 + cotgzx = COSec“x

04) sen (-X) = -sen X

05) cos (-X) = cos X

06) tg (-x) = -tg x

07) cosecx= 08) sec x=
sen x Cos X
1
09) cotgx = —— 10) tgx = ShE
tex Cos X
11) cotgx = Lo X 12) sen(ath)=senacosb + cosasenb
sen x

13) cos{atb)=cosacosh F senasenhb

tcattgh

14) tz(a+ b)=
)tela*h) l-tgatzgh

tza-tgh

15) tz(a-b) =
) te(a-b) l+tgatzgh

16) cos®x =% {1+ cos 2x)

17) sen’x = ;— (1-cos 2x)

18) sen 2x = 2 sen x.cos x

2y o2y — 1 2, _ 2tg %
19) 00522)( =cos“X -sen“x =1 - 2 sen“x = h0) tg 2% = 82
=2 cos“x - 1 1-tg“x
21) |sen x| ll-cosx 22) leos x| fl+cosx
2 2 2 2
23) tg LRl B 24) senx.cos y = 1 [sen(x-v) + sen(x+ y)]
2 SEn X 1+ cosx 2

25) senx.seny= % [cos (x-¥) - cos (x+ y)]

26) cos X cos y=13 [cos(x-v) + cos(x+ ¥)]

27) cosx.seny= ;—[sen (x+y) - sen(x-v)]

- -
28) senx-seny = ZSen(Xzy).cos[X : yJ

29) senx cosx= % sen 2x

30) 1-cosx=256n2§

2 X

31) 1+ cosx =2 cos

+

32) 1 + senx=1

-

33) cos 28 = 0032 & - sen26‘




